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1. The doctrine of ‘the basic structure of the

Constitution’ as a principle of judicial review

(a) Is strictly in accord with the principle of
‘procedure established by law’

(b) Is consistent with the principle of ‘the due
process of law’

(c) Accepts the theory that the legislature is the
supreme law-making authority

(d) Assumes the power of judging the wisdom
of the sovereign legislature

2. Which of the following countries is/are a part of

Mekong Ganga Cooperation Initiative?
1. Thailand

2. China

3. Vietham

4. Bangladesh

Select the correct answer using the code given
below.

(a) 1,3 and 4 only

(b) 1and3only

() 1,2and 3 only

(d) 2and 4 only

3. Which of the following statements does not

reflect the jurisdiction of the Committee on

Estimates?

(a) To examine the appropriation accounts and
the finance accounts of the Union
government and any other accounts laid
before the Lok Sabha.

(b) It examines whether the money is well laid
out within the limits of the policy implied in
the estimates.

(c) It suggests the form in which estimates
are to be presented to Parliament.

(d) It helps in checking Governmental
extravagance in making demands as its
report is debated in the House.

4. Which of the following are the quantitative tools

of monetary policy?

1. Moral suasion

2. Margin requirement

3. Open Market Operations
4. Bank Rate

5. Cash Reserve Ratio
Select the correct answer using the code given
below.

(a) 2,3,4and5only

(b) 3,4 and5 only

(c) 1,3 and 4 only

(d) 1,2 and 5 only

6. Consider

Nayanars were devotees of:

(a) Vishnu

(b) Krishna

(c) Shiva

(d) Durga

the following statements about

Parliament:

1. Impeachment process of President can
originate only in Lok Sabha.

2. Introduction and passage of constitutional
amendment bill can be originated in either
of the houses of Parliament.

3. Article 108 says that a Money Bill shall be
introduced in the Council of States.

Which of the above statement(s) is/are incorrect?

(a)1and 3
(c)1and?2

(b) Only 2
(d)1,2and 3

7. In which one of the following regions was

Dhanyakataka, which flourished as a
prominent Buddhist centre under the
Mahasanghikas, located?

(a) Andhra (b) Gandhara

(c) Kalinga (d) Magadha

8. Consider the following statements:

1. Thermal power plants produce fly ash which
can cause pollution of water bodies.

2. Liquefied Petroleum Gas is a clean fuel
Which helps in reducing household
pollution.

Which of the statements given above is/are

correct?

(a) 1only

(c) Both1and?2

(b) 2 only
(d) Neither 1 nor 2

9. Which among the following Supreme Court

10.

Judgements established the principle that the
‘basic structure’ of the Constitution of India
was unamendable?

(a) Golaknath vs State of Punjab

(c) Sankari Prasad vs Union of India
(d) Sajjan Singh vs State of Rajasthan

Which one of the following is not a
Fundamental Right under the Constitution of
India?

(a) Right to property

(b) Right against exploitation

(c) Right to constitution remedies

(d) Cultural and educational right
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11.

12.

13.

14.

15.

16.

How Natural Vegetation affect climate of a
place?

(a) Trees reflect most of sunlight

(b) They absorb more sunlight

(c) By evapotranspiration

(d) None of the above

Consider the following statements:

1. RBI adopted flexible inflation targeting in
2018

2. Monetary Policy Committee set the inflation
target once every five years

3. Monetary Policy Committee determines the
policy repo rate required to achieve the
inflation target

Which of the above option is/are correct with

respect to India:

(a) 1and 2 only

(c) 1 and 3 only

(b) 2 only
(d) 3 only

The Green Revolution as agrarian revolution
aimed at revolutionizing the production of

(a) food grains

(b) fruits and vegetables

(c) cereals

(d) fisheries

Which one of the following gases is not

responsible for Ozone depletion?

(a) Nitrous Oxide

(b) Chlorofluorocarbon

(c) Bromine

(d) All of the above are Ozone depleting
substances

Quantum networks uses properties of which
elements to transmit data?
(a) Photon
(b) Gravitons
(c) Boson
(d) Gluon
Consider the following pairs?
Vaccine Technology
1. iINCOVACC - DNA Plasmid
2. BioNTech - Inactivated Pathogen
3. ZyCoV-D - mRNA

Which of the pairs given above is/are correctly
matched?

(a) 1and2

(b) 2 only

(c) 1and3

(d) None

17

. The Karachi resolution of Congress in 1931

advocated which one of the following issues?

(a) State shall not own control key industries
and services

(b) State shall handover the key industries and
services to the Indian business groups

(c) State should allow the Indian business group
to invest fifty per cent of the capital

(d) State shall own or control key industries and

services
18. With reference to ancient India, consider the
following statements:
1. The concept of Stupa is Buddhist in origin.
2. Stupa was generally a repository of relics.
3. Stupa was a votive and commemorative
structure in Buddhist tradition.
How many of the statements given above are
correct?
(a) Only one
(b) Only two
(c) All three
(d) None
19. Which of the following statement (s) is/are

20.

21.

true about Convectional Current inside the

earth according to Arthur Holmes?

1. These Currents are generated due to
thermal differences in the mantle portion.

2. Such currents exist in the entire mantle
portion

Select the correct answer using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1and 2

(d) Neither 1 nor 2

Through which one of the following
amendment acts were Fundamental Duties
introduced to the Constitution of India?

(a) The 44th Amendment Act
(b) The 42Nd Amendment Act
(c) The 43'd Amendment Act
(d) The 25th Amendment Act

What is ‘Pegasus’ often heard in news?
(a) A type of cloud computing

(b) A digital payment platform

(c) Aspyware

(d) Aradar system
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15.
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22. Consider the following statement about Indian

monsoon:

1. The Monsoon like the trades winds are
steady winds

2. Withdrawal or the retreat of the India
monsoon is a more gradual process

3. Changesin the pressure conditions over the
southern pacific oceans also affect Indian
Monsoon

Select the correct answer using the code given

below:
(a) 2 and 3 only
(c) 1 and 3 only

(b) 1 and 2 only
(d) 2 only

23. Consider the following statements about the

1.

w

24.

25.

26.

caste system:
Basic characteristics of the caste-system
involve purity, heredity, marriage and food.
Dharma in the three pursuits - ‘dharma, artha,
kama’ means caste rules ordained by shastras:
Anirabasita means the varnasamkaras.
Process of proliferation of castes is described
in the Purushasukta.

Which of the above statements are correct?

(a)1,2and 3 (b)2and 3

(c)3and 4 (d)2and 4

What is Sarvadarsanasangraha?

(a) A treatise on Advaita

(b) A critical account of sixteen philosophical
systems from materialism to monism

(c) A full exposition of the Mimamsa

(d) A Buddhist philosophical system

The expression “Second Urbanisation” signifies

the

(a) Revival of Harappan cities

(b) Rise of urban centres in the Ganga valley

(c) Birth of towns in the Deccan in the Narmada
valley

(d) Re-building of the town of Kollam in Kerala

The themes of the murals of the Ajanta Caves

are

1. Decorative designs which include a variety
of animals, trees and flowers.

2. Portraits of wvarious Buddhas
Bodhisattvas.

3. Narrative scenes portraying Jataka stories.

Select the correct answer using the code given

below:

(a)1,2and3

(c) 1 and 3 only

and

(b) 2 and 3 only
(d) 1and 2 only

27.

28.

29.

30.

What were the objectives of the Import

Substitution Strategy adopted by the

government?

1. To discourage the imports of those goods
that could be produced domestically.

2. To protect domestic industries
outward competition.

3. To provide financial encouragements to the
domestic producers to produce the import
substituted goods.

from

Select the correct code from option given below

(a) 1and 2 only
(b) 2 and 3 only
(c) 1and3only
(d) All of the above

Which of the following statements concerning

temperature is/are correct?

1. In winter season isotherms in Northern
Hemisphere are more or less circular on
continents.

2. lIsotherms are parallel to
Southern Hemisphere in oceans

3. Minimum temperature during winter is
recorded in Northern Canada

l[atitude in

Select the correct answer using the code given

below:

(@) 1and 2 only
(b) 1and3only
(c) 1,2and3
(d) 2only

With reference to ancient South India, Korkai,
Poompuhar and Muchiri were well known as
(a) capital cities
(b) ports
(c) centres of iron-and-steel making
(d) shrines of Jain Tirthankaras

Which of the following statements concerning

Mediterranean climatic region are correct?

1. It is found in the latitude range 30° to 45°
northern and southern hemisphere

2. Mediterranean climate experiences
extreme temperature conditions

3. In Mediterranean climate, rainfall occurs
mainly during summer season

4. In Mediterranean climate, rainfall is mainly
due to Westerlies

Select the correct answer using the code given

below:

(a)1,2and 4

(c)1,2and 3

(b) 1 and 4 only
(d)3and 4
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23.

24.

25.

26.
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31.

32.

33.

34.

35.

36.

Structurally, the Andaman Nicobar region is a
part of:

(a) Cuddapah Basin

(b) Deccan Plateau

(c) Himalaya

(d) East Coastal Belt

Which of the following factors influence
salinity of ocean waters?

1. Evaporation

2. Precipitation

3. Fresh water from rivers

4. Prevailing Winds

5. Ocean Currents

Select the correct answer using the code given
below:

(a)1,2and 3 only

(b) 1,2,3 and 4 only

(c) 2and 4 only

(d) All of the above

Consider the following pairs: *gracing to all
Clouds features

1.Cirrus - Black or dense clouds
2.Stratus - layered clouds

3.Cumulonimbus - Associated with hail Storm
Which of the above pair(s) is/are correctly
matched?

(a) 3 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 3 only

What is a population pyramid?

(a) A graphical presentation of the age, sex
composition of a population.

(b) When the population density of an area is so
high that people live in tall buildings.

(c) Pattern of population distribution in large
urban areas

(d) A graphical presentation of birth rate, death
rate and Net population of the country

Azotobacter and Clostridium convert

(a) gaseous molecular nitrogen into ammonia

(b) ammonia present in soil to gaseous nitrogen

(c) humus present in soil to mineralized
constituents

(d) normal healthy soil to toxic soil

Which one among the following statements
is/are true about Bahadur Shah jafar II?

37.

38.

39.

1. The rebels of 1857 proclaimed their loyality
to him

2. He was forced to accept the leadership of
revolt and was killed during course of war

Select the correct answer using the code given

below:

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor2

Consider the following statements relating to

Sher Shah

1. During Ser Shah’s region, the village
Panchayat and Zamindars were not allowed
to deal with civil and criminal cases at the
local level.

2. Sher Shah set-up army cantonments in
different parts of the empire and a strong
garrison was posted in each of them.

Which of the statements given above is/are

correct?

(@) Only 1

(b) Only 2

(c) Both1and 2
(d) Neither 1 nor 2

Consider the following statements about

Periyar E. V. Ramaswamy:

1. He Was a politician, social activist and an
important figure in the Tribal movement of
central India.

2. He championed the cause of caste
upliftment, nationalism and the rights of
women

3. He was contemporary of the Maharashtran
anti-caste reformer, Jyotiba Phule

Which of the statements given above is/are

correct?
(a) 1 only (b) 2 only
(c)1and3 (d)1and?2

Consider the following statements about

Surendranath Banerjee?

1. He became the first Indian journalist to be
imprisoned.

2. Hewasalso known as Indian Edmund Burke.

3. Hecleared the ICS examination

4. He supported the Montagu-Chelmsford
Reforms.

Which of the above statements are correct?

(a) 1,2 and 4 only
(b) 2,3 and 4 only
(c) 3and 4 only
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31.

32.

33.

34.

35.

(d)1,2,3and 4

GLIATHF &Y 9, AU AP 85 <961 Th

S

() F=TUT o

(b) THT T q21X

(c) fRwTera

(d) T a1 Fee

Ruffea & & F9-a7 F1CE T F g1 Al

FAUAT T THIET FHLAT 572

1. TR

2. 99l

3. ATAT T qTSIT ITHT

4. s=tera 9a

5. T Ty

Tl HAAT Hl TgA

(@) FaT 1, 2 3T 3

(b) FaeT 1, 2, 3 3T 4

() Fa 2 3T 4

(d) 3T =

Fraferfaa g e REm HE: *gracing to all
A IEREKIY

1. TEATT - Tl AT I FT&A

2. 5T - qYARTE B

3. FOTHT T - AAT-ITS & Fafad

SURIRE SISt § § FI9-97 Hgl 7 @17 &

() FaeT 3

(b) eeT 1 &IT 2

(c) A 2 3T 3

(d) e 3

st fAafie w32

(a) smaTar #F foRT, ey st uw e
TEgfA

(b) St TFET &1 T SAEEAT F9cd SAAT ATAF
ZIaT g 1o 0T ST 29al | Bd 8l

(C) T T & § SAEEAT Faor & T

(d) 91 FT ST¥H TT, G 3T AT LG STAEEAT il
(REERRLSIE]

TS IEIIFT 3T FAC ST TR 2Id &

OREIREMIEERIFAER I IR

(b) F&T H IUTeAT ST T T AT2eoT o

(c) gt # WiN[E &0 & GiAs I Je®

(d) FTHT T gt & STt ey

36.

37.

38.

TETEX ATE T fefiw F e & Ruffea &

I T/ FAT G5t gfe?

1. 1857 & fagrf2=t 7 39 i oo+t aerar<y i
T

2. 32 FARIE FT Aqcd TATHT T & (o0 Ty
ERIERIEIRE R r-E R rn ke Dl

A3 v v o o ST A A T g

(a) Fa 1 (b) FaeT 2

(c) 1 3T 2 == (d) T T 1 T T & 2

AR 9ITg & HEtq Aefered ol ) fErR

1. ST 9T % &= |, T GA1Aq 7 STHIQR &l
AT T T AWH AT ATTAF ATHAT
o e &t srgafa 7=t o1

2. X qMg ° AT & Afvw 9§ a9
graf=at =TT Y T 399 T ¥F ° UF
TS AT qATd 0l TS

ST T30 T FAAT § F Fi A1/ Aol 682

(a) FaT 1

(b) 3Faret 2

OFERFAE

(d)TATLATTEN2

IRIR T - TR F IR ¥ Aefted

FIFT I AR HE:

1. g UH TSdT, ATHTSTE RIAhdl T 7T
AR & ST A&@d § Th Fgeaqor
={=E I

2. Jrgid SATA IeAT, TATE AT AigaATS *
ATAHRTL T T AT

3. I HWEIg & STA-fawret qgumwad sardal
T & HHHIAM o

ST U T AT H F Fi A/ Aol 622

(a) ¥ 1 (b) 3Faret 2

(c)1siT3 (d) 13T 2

39. FLEATT T & a1 # AwferfEa wet aw

ﬁaﬂﬁﬁf@

1. 98 FIOETHT g aT Tgel T THHhT
EEl

2. Ire ATLATT USHE T o AT & ST 7 17

Tl
3. Sraiv ATSHITH shi TLI&AT 976 =l
4. IR HIETT-=FIRIE a1l T q94 =
UL FIF1 § T I & ol 82
(@) FaT 1, 2 3T 4
(b) Fa<T 2,33 4
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(c) Fa<t 3 3T 4
(d) 1,2, 33T 4

40. Which one of the following explains the
practice of ‘Vattakirutal' as mentioned in
Sangam poems?

(@) Kings employing women bodyguards

(b) Learned persons assembling in royal courts
to discuss religious and philosophical matters

(c) Young girls keeping watch over agricultural
fields and driving away birds and animals

(d) A king defeated in a battle committing ritual
suicide by starving himself to death

41. Which one among the following statements is
not true of the Jajmani system?

(a) It was a non-market exchange system

(b) It was practised in many villages and regions
during the pre-colonial period

(c) It was introduced under pressure from the
colonial regime

(d) It was incorporated into wider networks of
exchange through which agricultural
products and other goods circulated

42. The highly polished monolithic Ashokan pillars
were carved out of single pieces of a buff-
coloured sandstone, usually mined from the
quarries of
(a) Chunar near Mirzapur
(b) Lauriya in Nandangarh
(c) Sarnath near Varanasi
(d) Udayagiri near Bhubaneshwar

43. Which one of the following results due to the
‘edge effect’ between cold and warm ocean
waters?

(a) Development of dense Phyto-planktons rich
in diatoms

(b) Decrease in fish population in the area

(c) Decrease in mussel population in the area

(d) Decrease in primary productivity of the area

44. Which of the following are the parts of the
Government of India’s AYUSH initiative?
(a) Allopathy, Unani and Yoga only

(c) Allopathy and Homeopathy, only
(d) Allopathy, Homeopathy, Unani and Yoga

45. Consider the following statements regarding
the Swami Vivekananda.
1. He criticized Indians for having lost touch
with the rest of the world.

2. He condemned the caste system of India.
3. He asked people to imbibe the spirit of
liberty, equality and free thinking.
Which of the statements given above is/are
correct?
(@) 1,2and3
(b) 3 only
(c) 1and3only
(d) 2and 3 only

46. Consider the following statements regarding
Indian Feudalism in the early medieval period:
1. The revenue assignments were called

Bhoga,

2. The hereditary chiefs neither collected
revenues nor assumed administrative
powers.

Which of the statements given above is/are

correct?

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2

47. Which one of the following deserts is not

located around 200-300 Iatitude North or
South of the Equator?

(a) Atacama

(b) Kalahari

(c) Great Victoria

(d) Gobi

48. Natural population change is calculated by
(a) adding the death rate and the birth-rate
(b) subtracting the death rate from the birth-
rate
(c) multiplying the death rate with the birth-
rate
(d) dividing the death rate by the birth-rate

49. Consider the following statements regarding
the Liquidity Adjustment Facility:

1. It is one of the chief monetary tools of the
RBI.

2. Under LAF, RBI sells Government Securities
when there are inflationary trends in the
economy and buys the same during
deflationary periods.

Which of the above statements is/are correct?

(a) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor 2
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40.

41.

42.

43.

44,

Fafefea & o Fi9-ar &, 99w wQ@qet J

ToTafta ‘Fefheas T TAT T TTL FIAT 872

(a) TTSITSAT GIT HIgAT SLieraTall &l HIaw
FLAT

(b) TrSTETaTl | gl &, 97 oY 399 | 92
oot ox fe=me-fomel #3 gq, U gl

(c) TeReAT EIRT FT &= Hif AT FAT
sire Torfeat o aeget &1 AT

(d) T5 & U=TioIa T FT SO AF9H HT

STSTIE AL FLAT

et 9§ 9 F19-91 TF FI7 STSHET

T o T A 9T Tl 87

(a) =g STSITLa fAF | reesT ofF

(b) TE TE-3MATAaTF FTel T e Tal
AT o H wAr 7 off

(c) IT SAATF ATHT & TAEF & dgd LT
EARIE

(d) 75 FATHHT F ATATHd ATTF ATITF Aeahi
H gaTaE off SEs g F° 3R T 9=

\u o . o o \
Acql HIXAHA I gldl ?,ﬁ'

FqwT qiforer 3T U U A9 TR H
o AT-fier STAHTH F THe ghst § o aaAX
T, I GTHTLG: Fgl it @1 o (AT T97?
(a) FsTTR & =T A1

(b) TrarE # At

(C) ATTTOTET & T AT

(d) qaT=T & qHIT ITAN

5 S T qEt A & A Fapa F
(EDGE EFFECT) &% & Rufafea § 9
-G TH TR §?

(2) TTHEH | ALYT o FIEel-wA e & (AT
OEEEEEIEIE IR T

(C) & H 9iea =l SaTal | HHl

O EBEEIRIRICERCICIECTIR- k2

Freffea & & #19 & 9T 9@ R it sy
Ted & 3 87
(a) et TEATTeY, TATHT ST T

(c) et Terreft & et
(d) Terrtreft, e, ZATT S T

45.

46.

47.

48.

49.

TTHT e # TR # Rt wua ©

IEEIEETE

1. IR AThT AT F T T @1 a7 & forw
ATEATIT T ATATHAT |

2. Jrgiv STEd il ST =AaedT i fHar 1)

3. IR AN § TqG=AT, FHEAT AT TG0
T T ATAAT 7 HAT o forT Fgm

TR RUIAT I A TR AT A8/ B2

(@) 1,23i¥ 3

(b) e 3

(c) FaT 13T 3

(d) FaeT 2 3% 3

TSR WEARTA T A AT & G

¥ e Fat o e fivw:

1. TS FHTIRY I TR gl STrav ATl

2. TR TITT T T e Mg o 3T 7 &r
TITE T AT T &7 T o

S FAAT H F FIF-T7/H Tl 8/e?

(a) Fae 1

(b) Fat 2

(c) 13 2 =M

(d)Tar 1T T &2

Rufafea & & #itw a1 7w Rgaa @ F
I AT TFEIOT H FRIT 200-300 3reAter 9 o
SEEY

(a) STSTHTHT

(b) FTeTETA

(c) I =T

CRIEL

TTHd®H TAGEIT TIRad i AT it STt
() 9T T 3T ST+H I &l SATSAT

(b) = T & T T TS

(C) I 3T I ST+H & | IO FHLAT

(d) ST =T & o T AT AT FwAr

qIAdT GHTIS giaeT (Liquidity Adjustment

Facility) & d<g § fRafofea st o o=

W

1. 72 RBI & YH@ Hifash ITHLN § F T 2|

2.39 gEgT & q@d, Sa AdHaer H
ETEhITd &l YT grar g, ad aaiens
TR TTAadl Hl o=dT § AT AIehitd
FATE * I GadT gl

SURIE HAAT H T HIF-97/ § FAT Tl g / &

(@) Fat 1 (b) Faet 2
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50.

51.

52.

53.

(€) 13 2T (d)yTar1ATTE2
The acidification of oceans is increasing. Why is
this phenomenon a cause of concern?

1. The growth and survival of calcareous
phytoplankton will be adversely affected.

2. The growth and survival of coral reefs will be
adversely affected.

3. The survival of some animals that have
phytoplanktonic larvae will be adversely
affected.

4. The cloud seeding and formation of clouds
will be adversely affected.

Which of the statements given above is /are

correct?

(a) 1, 2 and 3 only

(b) 2 only

(c) 1and 3 only

(d)1,2,3and4

A population of minnows in a pond is growing
under natural conditions with limited
resources.

As the minnow population increases in size,

how will its rate of growth affect its population

density?

(a) Asthe population grows, population density
becomes unstable. As a result, population
growth stops.

(b) Asthe populations grow, population density
increases. As a result, the rate of population
growth eventually slows.

(c) Asthe population grows, population density
decreases. As a result, the rate of population
growth eventually increases.

(d) Asthe population grows, population density
remains constant. Asa result, population
growth increases.

Ecology is the study of how all of the living and

non-living factors in an environment interact.

What are the levels of ecology, from the

smallest level to largest level?

(a) Biosphere, Ecosystem, Community,
Population, Organism

(b) Community, Biosphere, Population,
Ecosystem, Organism

(c) Population, Organism, Community,
Biosphere, Ecosystem

(d) Organism, Population, Community,
Ecosystem, Biosphere

Consider the following countries:
1. Bulgaria

Czech Republic

Hungary

Latvia

Lithuania

Romania
countries share a land border with How many of
the above-mentioned Ukraine?

(a) Only two

(b) Only three

(c) Only four

(d) Only five

oueswWN

54. Which of the following are included in the

55.

56.

category of direct tax in India?

1. Corporation tax
2. Taxonincome
3. Wealth tax

4. Customs duty

5. Excise duty

Select the correct answer using the codes given
below

(@) 1,2and3

(b) 1,2,4and5

(c) 2and3

(d) 1,3,4and5

Consider the following statement about the

impact of government borrowing:

1. Government borrowing are inflationary in
nature

2. Government borrowing leads to crowding
out effect.

Select the correct statement

(@) 1only

(b) 2 only

(c) Both1and?2

(d) Neither 1 nor2

Which among the following statements about

bio fertilizers are correct?

1. Azotobacter is one of the Nitrogen fixing
bacteria used as a bio fertilizer.

2. They have’ to be applied to the leaves of the

plant only.

3. They alter the chemical composi-tion of the
soil.

4. They can be Used along with organic
fertilizers.

Select thecorrectanswerusing the code given
below:
(a) 1and4only
(b) 1,2 and 4 only
(c) 2and3only
(d) 1,2,3and4
Page | 11



50- AETETIRI T SFATH 9% QT gl T TEAT 41

=t =1 fAwa 87

1. FfcemdHl 9@T was & gy dX ST
STeraT ITadd &9 F TATET gl

2. vare fafxr &t gfg sfiw STestifaar Jfaga
G TATAT T

3. T 9T, ek fRvsTe q1eq @i I &,
#T 3L STar ITawe &9 F TATET gl
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ST | T RIA-A1/FHIT Tl o/5?
(a) e 12, 4 3 (b) 3erer 2
(c) A= 1, 3T 3 (d) 2 3 3T 4

51. T qrare ® grdl gyl £ e @it
T o T ATHfaeh aiurfaat & 98 WY 21
S-S ST AT T AR TZAT &, Tt Jhg
T THH AAGEAT U HI v THTEd HGA(?

(a) STH-STH SHEEAT TRl &, STTHEAT g e
ZIAT SITAT g1 TROTTHETST STHEEAT g1 Feh ST
2l

(b) SIE-STH STHEEAT FEdl §, STTHEAT Jqcd a7 gl
AT, STEEAT g ol &< fad: eiHT T STt
2l

(C) SH-STH STEEAT TEAT &, STTHEAT A FH Il
STAT g1 TRTHEa=T, ST gl it 3¢ ofqa:
JE ST 2|

(d) S-S SHEEAT FEdl g, SMEEdT " [©UY

AT gl TRUHEa=Y, STedT g 98 STl gl

52. gt T araq #7 sreaaw g & qwiawr §
gt aofi iR fAstia e fFg T 9T

ERIETCE]

qaH Pl T § g9 I &L T qrireqiaat %

T FT 572

(a) Strawed, aTiEATaahr T, FHEE, STHEET,
sfa

(b) FHET, ShaHe, ST, el o=,
sfa

(C) ST, ST, A9, StaAed, I edfas
SEl

(d) Sftar, S9EedT, 99, uUTREgfas 9,
SIEEEL]

53. Rwfafea 2at = fREr fiva:
1. FRIAT

54,

55.

56.

2. 7 fafeas
3. &

4. FATataar

5. fersgemtaaT
6. TrHTIAAT
ST § 7 Fohaer <ot it ThATd e i J T E
T FTHT 82
(a) Fat aT
(b) Fae i
() FaA AT
(d) Faer at=

TR § W& &< it Aot ¥ Refafea & a4
i 82

1. v &

2. ATTFT

3. HURT FT

4. HHT F

5. IeqTE 9o

T 3T T e T ITART F:0k Tt 39 A
(@) 1,230 3 (b) 1,2,43f%5

(c) 23T 3 (d) 1,3,43f%5

@ SR & TAE & X 7 Fafefeg s
7T fa=me %

1. HEEHRT I THd H GRTERITARTE &

2. FYEHET ST § FISTET A3 Thae I=aT gl
el FIF HT FI9 A

(a) Fae 1

(b) & 2

(c) 13T 2 Mt

()FATLATTE2

FAafiea # 9 319 9 799 39 39 & Qg #

SRR

1. USTIEraey, qT3ero ITRhleor Sarost
HH UF S, N AT IaHk 6 BT H TIF ardv
gl

2. Teg UTY whl hadl TIAT 9T TR(AT ST il
El

3. T ¥aT & TEEEE Hoed ® qRarad wed
El

4, TeE AT SATH & ATT T AT ST
TRl 2l

= 2T %2 T TINT FT Gl 30 A0

(@) Fa<T 1 3T 4

(b) FaeT 1, 2 31 4

(c) FaT 2 3T 3

(d) 1,2,33 4
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57.

58.

59.

60.

61.

Consider the following statements:

1. Warm-blooded animals can remain active in
cold environment in which cold-blooded
animals can hardly move.

2. Cold-blooded animals require much less
energy to survive than warm - blooded
animals.

Which of the statements given above is/are
correct?

(@) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Eco-Mark is given to an Indian product which is
(a) rich in protein

(b) environment-friendly

(c) economically viable

(d) pure and unadulterated

Recently a session was held at United Nations
Convention to Combat Desertification
(UNCCD) to review the first global assessment
of land degradation which seeks to achieve

Land Degradation Neutrality (LDN) by 2030. In

this context, consider the following statement

about UNCCD:-

1. The Convention addresses specifically the
arid, semi-arid and dry sub-humid areas
only.

2. It is the only internationally legally binding
framework set up to address the problem of
desertification.

Select the correct option using the code given

below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What are the main constituents of biogas?
(a) Methane and sulphur dioxide

(b) Methane and carbon dioxide

(c) Methane, hydrogen and nitric oxide

(d) Methane and nitric oxide

In cities throughout the country, there is a new
direction in local campaign coverage.
Frequently in local elections, journalists are
not giving voters enough information to
understand the issues and evaluate the
candidates. The local news media devotes too

much time to scandal and not enough time to
policy.
This paragraph best supports the statement that

the local news media

(a) is not doing an adequate job when it comes
to covering local campaigns.

(b) does not understand either campaign issues
or politics.

(c) should learn how to cover politics by
watching the national news media.

(d) has no interest in covering stories about
local political events.

62. The use of desktop computer equipment and
software to create high-quality documents
such as newsletters, business cards,
letterhead, and brochures is called Desktop
Publishing, or DTP. The most important part of
any DTP project is planning. Before you begin,
you should know your intended audience, the
message you want to communicate, and what
form your message will take.

The paragraph best supports the statement that

(a) Desktop Publishing is one way to become
acquainted with a new business audience.

(b) computer software is continually being
refined to produce high-quality printing.

(c) the first stage of any proposed DTP project
should be organization and design.

(d) the planning stage of any DTP project should
include talking with the intended audience.

Directions for the following 6 (Six) items: 63 to 68
Read each of the following two passages and
answer the items that follow. Your answers to
these items should be based on the passages
only.

In criminal cases, the availability of readable
fingerprints is often critical in establishing
evidence of a major crime. It is necessary,
therefore, to follow proper procedures when
taking fingerprints. In major cases, prints should
be obtained from all persons who may have
touched areas associated with a crime scene,
for elimination purposes.
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2l
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62. Tered, fasTe HTgH, AeTee AT AR A Y-
TUTET T TEATAS S 6 [T SEHElT HFYeX
STFOT X AiheddqX FT IUIANT SEhelT
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63.

64.

65.

66.

The main idea of the paragraph is that

(a) because fingerprints are so important in
many cases, it is important to follow the
correct course in taking them.

(b) all fingerprints found at a crime scene
should be taken and thoroughly
investigated.

(c) if the incorrect procedure is followed in
gathering fingerprints, the ones taken may
be useless.

(d) the first step in investigating fingerprints is
to eliminate those of non-suspects.

The paragraph best supports the statement

that

(a) no crimes can be solved without readable
fingerprints.

(b) all persons who have touched an area in a
crime scene are suspects.

(c) all fingerprints found at a crime scene are
used in court as evidence.

(d) all persons who have touched a crime-scene
area should be fingerprinted.

Some alternative therapies have even crossed
the line into main-stream medicine, as
scientific investigation has confirmed their
safety and efficacy. For example, physicians
may currently prescribe acupuncture for pain
management or to control the nausea
associated with chemotherapy. Additionally,
many U.S. medical schools teach courses in
alternative therapies, and many health
insurance companies offer some alternative
medicine benefits.

What is the main idea of this passage?

(a) Alternative medicine is now a big business in
the United States with more Americans
seeking it out than ever before.

(b) Today, it is not unusual for mainstream
doctors to incorporate alternative therapies
into their practice.

(c) Over the last few decades, alternative
medicine has become more popular,
accepted, and practiced in the United
States.

(d) People are tired of conventional medicine’s
focus on technology.

According to the passage, which practice
would not be defined as alternative medicine?

67.

68.

(a) pain management

(b) acupuncture

(c) taking herbal garlic supplements
(d) massage therapy

Based on the information given, what kind of

person would be least likely to seek out

alternative medical treatment?

(a) a senior  citizen suffering
chemotherapy-induced nausea

(b) a young woman suffering from chronic
fatigue syndrome

(a) a 45-year-old man who believes that his
body and mind must be treated together.

(d) a 25-year-old track star with chronic back
pain.

from

The passage indicates that alternative
treatments are increasingly being used by
mainstream medical professionals because

(a) more and more Americans are demanding
alternative therapies.

(b) healthcare insurance companies are now
providing some benefits for alternative
medical treatments.

(c) they are frustrated by the time constraints
of managed care.

(d) scientific studies are becoming available
that prove their effectiveness and safety.
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Directions for the following 4 (Four) items: 69 to 72

69.

Read each of the following two passages and
answer the items that follow. Your answers to
these items should be based on the passages
only.

After reading the passage, answer all questions
pertaining to it on the basis of what is stated or
implied in the passage. For each question,
select the best answer of the choices given.

According to economic signaling theory,
consumers may perceive the frequency with
which an unfamiliar brand is advertised as a cue
that the brand is of high quality. The notion that
highly advertised brands are associated with
high-quality products does have some empirical
support. Marquardt and McGann found that
heavily advertised products did indeed rank
high on certain measures of product quality.
Because large advertising expenditures
represent a significant investment on the part of
a manufacturer, only companies that expect to
recoup these costs in the long run, through
consumers’ repeat purchases of the product,
can afford to spend such amounts. However,
two studies by Kirmani have found that
although consumers initially perceive expensive
advertising as a signal of high brand quality, at
some level of spending the manufacturer’s
advertising effort may be perceived as
unreasonably high, implying low manufacturer
confidence in product quality. If consumers
perceive excessive advertising effort as a sign of
a manufacturer’s desperation, the result may be
less favorable brand perceptions. In addition, a
third study by Kirmani, of print advertisements,
found that the use of color affected consumer
perception of brand quality. Because
consumers recognize that color advertisements
are more expensive than black and white, the
point at which repetition of an advertisement is
perceived as excessive comes sooner for a color
advertisement than for a black- and-white
advertisement.

The primary purpose of the passage is to

(@) present findings that contradict one
explanation for the effects of a particular
advertising practice

(b) argue that theoretical explanations about
the effects of a particular advertising

70.

71.

practice are of limited value without
empirical evidence

(c) discuss how and why particular advertising
practices may affect consumers’
perceptions

(d) contrast the research methods used in two
different studies of a particular advertising

practice

Kirmani’s research, as described in the
passage, suggests which of the following
regarding consumers’ expectations about the
quality of advertised products?

(a) Those expectations are likely to be highest if
a manufacturer runs both black-and-white
and color advertisements for the same
product.

(b) Those expectations can be shaped by the
presence of color in an advertisement as
well as by the frequency with which an
advertisement appears.

(c) Those expectations are usually high for
frequently advertised new brands but not
for frequently advertised familiar brands.

(d) Those expectations are likely to be higher
for products whose black-and-white
advertisements are often repeated than for
those whose color advertisements are less
often repeated.

Kirmani’s third study, as described in the
passage, suggests which of the following
conclusions about a black-and-white
advertisement?

(@) It can be repeated more frequently than at
comparable color advertisement could
before consumers begin to suspect low
manufacturer confidence in the quality of
the advertised product.

(b) It will have the greatest impact on
consumers’ perceptions of the quality of the
advertised product if it appears during
periods when a color version of the same
advertisement is also being used.

(c) It will attract more attention from readers of
the print publication in which it appears if it
is used only a few times.

(d) It may be perceived by some consumers as
more expensive than a comparable color
advertisement.
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72. The passage suggests that Kirmani would be

most likely to agree with which of the

following statements about consumers’

perceptions of the relationship between the
frequency with which a product is advertised
and the product’s quality?

(a) Consumers’ perceptions about the
frequency with which an advertisement
appears are their primary consideration
when evaluating an advertisement’s claims
about product quality.

(b) Because most consumers do not notice the
frequency of advertisement, it has little
impact on most consumers’ expectations
regarding product quality.

(c) Consumers perceive  frequency  of
advertisement as a signal about product
quality only when the advertisement is for a
product that is newly on the market.

(d) The frequency of advertisement is not
always perceived by consumers to indicate
that manufacturers are highly confident
about their products’ quality.

Directions for the following 8 (eight) items: 73 to 80

Read each of the following two passages and
answer the items that follow. Your answers to
these items should be based on the passages
only.
Passage-|

For achieving inclusive growth there is-a critical
need to rethink the-role of the State. The early
debate among economists about the size of the
Government can be misleading. The need of the
hour is to have an enabling Government. India
is too large and complex a nation for the State
to be able to deliver all that is needed. Asking
the Government to produce all the essential
goods, create all the necessary jobs, and keep a
curb on the prices of all goods is to lead to a
large cumbersome bureaucracy and
widespread corruption. The aim must be to stay
with the objective of inclusive growth that was
laid down by the founding fathers of the nation
and also to take a more modern view of what
the State can realistically deliver. This is what
leads to the idea of an enabling State, that is, a
Government that does not try to directly deliver
to the citizens everything that they need.
Instead, it (1) creates an enabling ethos for the
market so that individual enterprise can flourish
and citizens can, for the most part, provide for
the needs of one another, and (2) steps in to
help those who do not manage to do well for

73.

themselves, for there will always be individuals,
no matter what the system, who need support
and help. Hence we need a Government that,
when it comes to the market, sets effective,
incentive-compatible rules and remains on the
side-lines with minimal interference, and, at the
same time, plays an important role in directly
helping the poor by ensuring that they get basic
education and health services and receive
adequate nutrition and food.

According to passage:

1. The objective of inclusive growth was laid
down by the founding fathers of the nation.

2. Need of the hour is to have an enabling
Government.

3. The Government should engage Il
maximum interference in market processes.

4. There is a need to change the size of the
Government.

Which of the statements given above are correct?

74.

75.

(@) 1and 2 only
(b) 2 and 3 only
(c)1and 4 only
(d)1,2,3and4

According to the passage, the strategy of

inclusive growth can be effected by focussing

on

(a) meeting all the needs of every citizen in the
country.

(b) Increasing the regulations
manufacturing sector.

(c) Controlling the
manufacturing goods.

(d) Delivery of the basic services to the deprived
sections of the society.

over the

distribution of

What constitutes an enabling Government?

1. Alarge bureaucracy.

2. Implementation of welfare programmes
through representatives.

3. Creating an ethos that helps individual
enterprise

4. Providing resources to those who are
underprivileged.

5. Offering direct help to the poor regarding
basic services.

Select the correct answer from the codes given

below:

(a) 1,2and 3 only

(b) 4 and 5 only

(c) 3,4and5only

(d) 1,2,3,4and5
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76.

77.

78.

Why is the State unable to deliver “all thai is
needed”?

1. It does not. have sufficient bureaucracy.

2. It does not promote inclusive growth.
Select the correct answer from the codes given
below:

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

What is essential message being conveyed by

the author of the passage?

(a) The objectives of inclusive growth laid down
by the foundings fathers of the nation
should be remembered.

(b) The Government needs to make available
more schools and health sevices.

(c) The Government needs to establish markets
and industries to meet the needs of the poor
strata of the society.

(d) There is a need to rethink the role of the
State in achieving inclusive growth.

Passage-2

The concept of ‘creative society’ refers to a
phase of development of a society in which a
large number of potential contradictions
become articulate and active. This is most
evident when oppressed social groups get
politically mobilised and demand their rights.
The upsurge of the peasants and tribals, the
movements for regional autonomy and self-
determination, the environmental movements,
and the women’s movements in the developing
countries are signs of emergence of creative
society in contemporary times. The forms of
social movements and their intensity may vary
from country to country and place to place
within a country. But the very presence of
movements for social transformation in various
spheres of a society indicates the emergence of
a creative society in a country.

What does the author imply by “creative

society”?

1. A society where diverse art forms and
literary writings seck incentive.

2. A society where social inequalities are
accepted as the norm.

3. A society where a large number of
contradictions are recognised.

79.

80.

81.

4. A society where’ the exploited and the
oppressed groups grow conscious of. their
human rights and upliftment.

Select the correct answer using the codes given

below:

(a)1,2and3 (b) 4 only
(c)3and 4 (d)2and 4
What according to the passage are the

manifestations of social movements?

1. Aggressiveness and being incendiary.

2. Instigation by external forces.

3. Quest for social equality and individual
freedom.

4. Urge for granting privileges and self-respect
to disparaged sections of the society.

Select the correct answer using the codes given

below:

(a) 1 and 3 only
(b) 2 and 4 only
(c) 3 and 4 only
(d)1,2,3and4

With reference to the passage. consider the

following statements:

1. To be a creative society, it is essential to
have a variety of social movements.

2. To be a creative society, it is imperative to
have potential contradictions and conflicts.

Which of the statements given above is/are

correct?

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

A team of 30 men is supposed to do a work in
38 days. After 25 days, 5 more men were
employed and the work was finished one day
earlier. How many days would it have been
delayed if 5 more men were not employed:

(a) 1 day (b) 2 days

(c) 3 days (d) 4 days

Direction for (Q82- Q85): The table given below
shows the profit earned by six friends in five
different years. Study the table carefully to
answer the questions that follow:

Friends 2018 2019 2020 2021 2022
Raju 8925 9310 7250 8200 6050
Harry 9100 8172 7520 9100 8000
Samir 6550 8500 6880 8000 10,200
Rupa 9170 7550 7250 5010 6520
Nihima 10520 7000 6580 6810 8050
Rajeev 6150 9005 8172 9015 8670

Page | 21



76.

77.

78.

TST 741 Tt sraegsware it fd T g |
FqHYT §?

1. 3 9T 9ITH ARl Tal 2l

2. I8 gATaelt A &y 9grET A8l adr gl

T U T Fe & AT AL FT FAT
(a) Faet 1 (b) et 2
() 13T 2 Tt (d) AT 13T TSN 2

TS % G FIT ATH ATCHA qeasl 79T 872
(8) Mg F TEATTHRT FIRT AR THTAAT
ForshTe % IR T AT TET AT AR
(b) TLHTT T ATerH ThAT AT TATEST HATAT Fl
SIS FLI %l AFLTHAT g

(c) TR % forw 7g sraeTs g o ag a9 &
fAde s #t sraegwarat it qfd ® oo
FTSITE 3T I T 2

(d) Tt AT FTiee e § 757 il e
X qHIEATE e Al ATF 2|

AGTeT -2
“GSTATCHS THTS T ATLTIOT THTS o AT *
39 =0 &1 Ay Fwdt & Sed 9 9o §
T dqfEay v T 96T 2l 334 8| T8
I HHT FATTHF GETE graT g o q97 Icditeq
HTHTST T TS < I HHied gl S1d &
ST ST STTEraRTeT T WivT e 3 | faramraefier Zort
H FFTAT S ST H IHE FT 3047, &A1
TATATAAT 3T AT o oIT sfvarare, I3 1a<or
AR T A AFRad qqHe i a97 |
gorefi 9HTST & ATfaAia & a7 § | =

TSI AFRIAAT o ®F T IAhT AT STAT-
ST <91 H Y FohelT U 39T o STeT-oreT feee
o fore-forer g aeat g1 e wamr & Bt o
T AT FATALOT 19 % o0 9 Srvarerdl 6t

AT 77, 397 | gorefie 901 & Ao
T SO Fedt Bl

AG Gorefier qHTST § FIT qread T@ar 82

1. TF UAT AT @i & @1 ®7 3%
AT fcas @@= TIHTe" I &1 Y9 F4d 8l

2. TF UHT TS STl ATHTISTR SHHTAATA
AT & &9 H T /AT ATaT Bl

3. T UHT THIS g TSt T&AT § AqATGLeT T
AT & ST g

4. U UHT THTS ST oo fiv IchifEa aqgt
AT AT Ud 3T Hhil =ae
et gt 21

S P T T T A A e

79.

80.

81.

(@) 1,231% 3
(c) 33T 4

=T % AR 9HISE  sfieear  #f
iRt AR S 2
1. STRTHHAT AT ITEH BT

2. AT ARl FIT ASHHATI
3. OTHTSIE HTEAT T ARG Faqadr i

G|

4. FHTS % ATATAT 9T T (AT 3T
ATCH-TFATT < T AE|

= 3T U e T TART T qEl IO AT

(@) FaT 130T 3

(b) AT 2 AT 4

() A 3 AT 4

(d) 1,2,33< 4

TR=ae & g # Rufafea Fo w e st

1. goasiie g8 a9+ & forw, @i s+
TATHTIST SATGTAAL T AT ATTITF g

2. godm wETST Fad & ferw, w@wrea
RATemATET 3T HEHT FT g7 AT gl

ST XU T FA1 § | FHA-91/" Gol o/e?

(a) FaeT 1 (b) FareT 2

(c) 1 3% 2 =1 (d)Tar 1Tl 2

30 AT % TF & T 38 foT § U 17 HLAT
gl 25 o1 % 912, 5 ST TIE &l I 9T TR0
TAT 3T H TH &7 gt {1 T @M a5
IR I&Y HTALT "ol gid ar fha faet T & g
@) 1% (b) 2 &=
©) 3% (d) 4 f=

(b) ¥a< 4
(d) 2 3 4

(Q82-Q85) F forg fAder: A= & wE arferT =g
O3 g Ui SrT-srenT aul # fa AT &y
it & Faffes o & s F [du

TR T EATTYAT STEATT L

e 2018 2019 2020 2021 2022
T 8925 9310 7250 8200 6050
B 9100 8172 7520 9100 8000
TfiT 6550 8500 6880 8000 10,200
qT 9170 7550 7250 5010 6520
fAfgwT 10520 7000 6580 6810 8050
Teitd 6150 9005 8172 9015 8670
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82.

83.

84.

85.

86.

87.

88.

Harry and Nihima earned their profit in 2019 by
investing their money in a business for 8
months and 10 months respectively. Find the
amount invested by Nihima if total profit was
distributed in their investment’s ratio and
investment of Harry was Rs. 20,400.

(a) Rs.13,340

(b) Rs. 13,440

(c) Rs.13,000

(d) Rs. 14,340

Find the amount which when lend on C.I
(Compound Interest), at 20% interest being
compounded annually for 3 years, if amount
equals to profit earned by Samir in 2021.

(a) Rs. 12550 (b) Rs. 15200

(c) Rs. 12500 (d) Rs. 12700

Maximum profit of Rajeev is approximately
what percent more than the 2nd minimum
profit of Nihima in the given years:

(a) 30% (b) 55%

(c) 32% (d) 28%

*gracing to all

In which year Raju earned a profit 5% more
than 5/6th of Harry’s profit in year 2022:

(a) 2021 (b) 2018

(c) 2022 (d) 2019

Ravi purchases 90 pens and sells 40 pens at a
gain of 10% and 50 pens at a gain of 20%. Had
he sold all of them at a uniform profit of 15%
he would have got Rs. 40 less. Find the cost
price of each pen.
(a) Rs. 80

(c) Rs. 90

(b) Rs. 75
(d) Rs. 100

A man leaves a point P and reaches the point Q
in 4 hours. Another man leaves the point Q, 2
hours earlier and reaches the point P in 4
hours. Find the time in which the first man
meets to the second man.

(a) 2 hours (b) 3.5 hours

(c) 1 hour (d) 3 hours

A tap can empty a tank in 30 minutes. A second
tap can empty it in 45 minutes. If both the taps
operate simultaneously, how much time is
needed to empty the tank:

(a) 30 minutes (b) 18 minutes

(c) 14 minutes (d) 15 minutes

89.

90.

91.

92.

93.

94,

95.

96.

97.

Two pipes can independently fill a bucket in 20
minutes and 25 minutes. Both are opened
together for 5 minutes after which the second
pipe is turned off. What is the time taken by
the first pipe alone to fill the remaining portion
of the bucket?
(a) 11 minutes

(c) 20 minutes

(b) 16 minutes
(d) 15 minutes

A father is twice as old as his daughter in 2018.
If in 1998, the age of father was ten times the
age of daughter, what is the birth year of
father:

(a) 1977 (b) 1975

(c) 1973 (d) 1971

A hostel of 3000 students has food provision
for 60 days. After 15 days how many students
must leave so that the remaining provision
may last for 75 days:

(a) 1200 (b) 1400

(c) 1300 (d) 1500

If goods worth Rs. 2,000 are sold for Rs. 2,400,
then what is the profit as a percentage of sales:
(a) 10% (b) 20%

(c) 24% (d) 16.67%

A number is multiplied by one-sixth, then

divided by one-seventh, and then multiplied by
seven-tenth. Result is what percent of the
original number:
(a) 49/6%
(c) 245/3%

(b) 50/3%
(d) 5/3%

M is 35% of N; L is 25% of N. What percent of
Miis L:

(a) 40.5% (b) 500/7%

(c) 140% (d) Data insufficient.

665 is divisible by  *gracing to all

(@) 19,7 (b) 7,5

(c) 19,5 (d)19,7,5

Minimum difference between x and y such that
1x 71y 61 is exactly divisible by 11 is,

(a) 2 (b) 3

(c) 1 (d)o

What fraction is that whose numerator being

doubled and denominator increased by 7, the
value becomes 2/3, but when the denominator
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82.

83.

84.

85.

86.

87.

88.

being doubled, and the numerator increased
by 2, the value becomes 3/5
(a) 3/5 (b) 4/5
(c) 5/7 (d) 7/11
& ik AT 7 2019 & srqwT 9T Foen: 8 A
A} 10 T2 F o e e | [ 6 av
FATAT [AfRar g e it € afr s afe
T ATH S (A4€T & ST & faara fFar =

A7 3 &< =1 [A9er 20,400 T @M
(a) . 13,340 (b) & 13,440
(c) %. 13,000 (d) & 14,340

g T AT FIRT ST 20% F Tehg iy sTTo1 9=
3 Nl F orT aTiie € T AT g U< SR
& STt 7, fe afer 2021 # " g R

foraer T & SRER g2
(a) =TT 12550 (b) =T 15200
(c) =TT 12500 (d) =T 12700

T u 9wt & Tetta & 1 sAfgaw ot [Afgar &
AL AT ATH | O bt sfqera stfere g2
(@) 30% (b) 55% *gracing to
(c) 32% (d) 28% all

e a9 T 99 2022 H &8 F AT F 5/6 F 5%

srfers ot srfSta e
(a) 2021
(c) 2022

T 90 T @h=aT § ST 10% F ATH 9 40 49
3T 20% ¥ ATH I 50 99 J=aT g1 Il 9 I
Toft T 15% F THAATT ATH I 47 Zrav ar 39
F. 40 FF ITH Al TAF U T AT JoF AT
Ffsm

(a) =77 80
(c) =TT 90

TF AEHI T g e aa a4 de A g w o
TgadT 3l T = o4 f<h (g W & 2 5 Igat 9adr
& 3K 4 "¢ 7 f&g 9 9 vg= Sar g1 o a0
# g =fxh gax Ae § A

(a) 2 &< (b) 3.5 =

(c) 1 % (d) 3 =<

TF 9 a1 T i 30 A= & @reft w< aar g
T T 7 39 45 e § @1t < aahar g1 af
AT A T T AAS G, AT Sht T GTAT A |
et THg S
(a) 30 fas=
(c) 14 fa=e

(0)2018
(d)2019

(b) &I 75
(d) =T 100

(b)18 foe
(d)15 fo=ret

89.

90.

91.

92.

93.

94.

95.

96.

97.

3 qTSY &9 €9 ¥ TH drea] Fr 20 e 3w 25
e ®§ A ga g1 A9 R TH 9T 5 AEE *
T e R strar § Sas a1e @ 9Ty §7
< T SITaT {1 STET % AW 9T H 9 F g

CENRECRIECEANBERIR DI R S-S
(a) 11 fae (b) 16 fame
(c) 20 f=re (d) 15 fare

uF foar fit s 2018 7 sraeit = it g Fr FEAT
g1 e 1998 7 foar it sy = F sy Y <=

ofF, a7 faaT &1 57w a9 797 82
(@) 1977 (b) 1975
(c) 1973 (d) 1971

3000 BT F T I & 60 =AY F To i
et g1 15 AT F s faw s @@ |

FTRT ATk A TTeTe 75 A7 aF o« 9o
(a) 1200 (b) 1400
(c) 1300 (d) 1500

gt 2,000 TG FT GTHTA 2,400 TGX § ST SATQT

g, ¥ fasht F afdera & =9 § 79 7147 &
(a) 10% (b) 20%
(c) 24% (d) 16-67%

Y g A s & o T ST €, 6
TH-qraa & favrfora G sar 8, ik i ama-
Tqa § O &R Strar @1 9o g e @ v
fraeT wiaera &:
(a) 49/6%
(c) 245/3%

(b) 50/3%
(d) 5/3%

M, N &T 35% &, L, N T 25% g1 M =T faar
yfaea L §:

(a) 40-5% (b) 500/7%

(c) 140% OEEFERRIE]

665 fasrsTr %z *gracing to all

(a) 19,7 (b) 7,5

(c) 19,5 (d)19,7,5

x 3R y F = aw A a8 & fF 1x 71y 6111
F 7lt awe ffa |,

(a) 2 (b)3

(1 (d)0

g & ot e g Sree st Y IR 79 s8R

R 7 #7 gig v 9 AT 2/3 g Srar g, AfF
B HT TNAT FL A A A 2 FY Il F WA
3/5 BT ATaAT
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(@) 3/5
() 5/7

(b) 4/5
(d) 7/11

98. Find the unit digit in the product (2467)153

x(341)72. *gracing to all
(a) 6 (b) 7
(c) 8 (d) 9

99. There are 20 poles with a constant distance
between each pole. A car takes 24 seconds to
reach the 12th pole. How much time will it take
to reach the last pole?

(a) 25.25s (b) 17.45 s
(c) 35.75s (d)41.45s

100.If two numbers are respectively 20% and 50%
of a third number, what is the percentage of
the first number to the second?

(a) 10 (b) 20
(c) 30 (d) 40
%k %k %k

98. UITHE (2467)153x(341)72 § THTS HT 3 ATT
Eﬁﬁﬂll *gracing to all

(@) 6 (b) 7
() 8 (d) 9

99. TF AT @ F A 20 @9 § TAF EN F
7 us [T 81 & FX 123 @ aF
IgaA | 24 Fhve At g1 AT @ qF IgEA W
e THg ST
(@) 25.25 e

(c) 35.75 e

(b) 17.45 &she
(d) 41.45 5e

100. Ff% T AT TF N G&AT FT HAM: 20%
3R 50% g, AT T8 HEAT, T we T | Fovaar
yiera &2

(@) 10 (b) 20
() 30 (d) 40
% % %
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